Nombres Entiers (G)

Effectuez chaque opération.

6—5= (—4)+3 = 2+(-1) =
(—1)—(—8) = (—1)+7= 34+9=
(—11)—(=7) = 56+ 8 = 11-2=
(—2)x 9 = 8—8= (—12)+(=2) =
6—6= (—9) x (=5) = (=5)—1=
(—6) — (—1) = 0+0= 3x9=
4x(=9)= 1—(-6) = (—4)+(-2) =
(=9)—(=2) = 9+3= (=5)—4=
4 x4 = (—6) x5 = 0+-0=
(=9) x (=3) = (=5)+(—4) = 0+2=
1 x(=5)= (—4) x(—1)= 2x3=
34+(—1)= (-3)+2= 9 x (—6) =
1x6= (—56) +8 = (—81)+9=
16+ (—4) = 3+3= 8+(-2) =
8 x (—3) = (=7)+0= 54+9=
(—12) = (=3) = 8—6= (=3)—(-8) =
3—(—6)= 10+(-2)= (—30)+6=
7x(=3) = 4x1= T+ (—4)=
30+6= (=27)+(=9) = (—9)+4 =
36 (—6) = 25+ (—5) = (—8) x (=5) =
(=)~ (~4) = 540 = (—1) % (-2) =
48 + 8 = 7-0= 6+6=
(=28) +4 = (=3)+(=7) = 28+ (—4) =
20+ (—4) = 6+6= 24 -8 =
(—32)+4= (—14)+7= (—2)—6=
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Nombres Entiers Solutions (G)

8 x (—=3)=—24
(—12) = (=3) =4
3—(—-6)=9
7x(=3)=-21
30+-6=5
36 - (—6)=—6
(=7)—(—4) =3
48+-8=06

Effectuez chaque opération.

(—4)+3=-1
(—1)+7=6
56+-8=7
8§—8=0
(—9) x (=5) =45
0+-0=0
1—(=6)=7
9+3=12
(—6) x5=-30
(—5)+(—4)=-9
(—4)x(=1)=4
(-3)+2=-1
(—56) -8 =—7

24+ (-1)=1
3+49=12
11-2=9
(—12)=(=2)=6
(—=5)—1=-6
3x9=27
(—4)+(=2)=-6
(=5)—4=-9
0-0=35
04+2=2
2xX3=6
9x (—6)=—54
(—81)+9=-9
8+ (—2)=6
54+-9=06
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